Sr. Inter Commerce Model Paper

Time: 3Hours Max. Marks: 100

Part-1 (Marks-50)

— SECTION-A —

Answer Any Two of the following questio-
nsin not exceeding 40 lines each.

808 FES® L3 Both BhHeo 40 Hokedh
Qooome SSTEerTe TPoNo&. 2x10=20 M
1. Define Stock Exchange. Write its

functions.

8 aémoé AP0, Deheod Teabod.

2. What are the advantages, disadvantages of

E-Banking?

&i-2150800 @08 AWS? TV HAraees,

H8&ob TrcHod.

3. What are the Principles of Management?

QEcEres oo ooabod.

— SECTION-B —

Answer Any Four of the following questi-
ons in not exceeding 20 lines each.
808 BN 237 Frenid BEHoH 20 Yoo
QoolKome aarenen ToaHod.
4x5=20 M
4. What are the differences between Primary
Market and Secondary Market?
(PEE 5531’8&&5, &Sédi) éPB&eS aﬁxﬁeg Ben
o°0Ho&.
5. Distinguish between Home Trade and
Foreign Trade?
658’?? $go, 23% Sgo 8’33455 Breen TPOHod.
6. What are the aims of listing of securities?
?o§7°§6é30:63 AL NI Rt oY
A0e3?
7. What are the functions of Entrepreneur?
cboeascco:‘éwgg Qe oraHod.
8. What are types of Planning?
(e5°9% Fseerdy oeahod.
9. What are the Merits and Demerits of Road
Transport?
S‘Scfg Saeese (HRreamren, HdQHen BoHos.

SECTION-C —
Answer Any Five of the following questi-

onsin not exceeding 5 lineseach. 5x2=10 M
808 ar8&® AFe 5 BHHes sarenes Teabod.

10. Commercial Bill (sesdesg Hex)

11. Stag (XR)

12. Tele Banking (&9 ergofof)

13. Endowment Policy (2o&Rs065 ared)

14. Bonded Warehouses (e0G& Agon)

15. Pure Entrepreneur (éogzﬁagwé o)oéogéa?éﬁss)

16. Bridge Loans (9§ &°%)

17. Unity of Command (&)é% dEE50)

PART- Il (50 MARKS)

—= SECTION-D

Answer the following question:  1x20=20 M

18. Amar and Akbar are partners sharing
profits and losses in the ratio of 4:3
respectively. Their balance sheet as on 31%
March, 2015 was as under.
958, e:os’e)g@a o8 mg@vdoéé gidyen. o
@65?6;130& SHdme 4:3 K)ég{%é’s
HotHhHoeno)h. 31-03-2015 o°e3 &0 e

@K@Qe) Kaéé 808 QEorr &ob.
Balance Shest as on 31-03-2015

Liabilities Amount Assets | Amount |
[ZHONSY Ao .| esdoen G, | ngo S,
Sundry Creditors| 20,000/ Cash 5,000
DR Breaeen 3K
Outstanding Bills
expenses 5,000/ receivable | 12,000
BQOW@Qé spd:;)e» Sen Heven
Generd reserve | 14,000| Debtors 28,000
FSen O Ses|ifdyen
Capital: Stock 24,000
Soreiso: 6%
Amar 40,000/ Machinery | 25,000
SRV aho@een
Akbar 30,000/ Land 15,000
@éag AV

1,09,000 1,09,000

On the above date, Anthony was admitted
into partnership for ¥/4" share in the future
profits on the following conditions:

B 865 Koy aigs ovard? Vs Sodh

TS 908 28w, 808 JBHOH S

e &m 3&)‘3&&“&&.

a) Anthony should bring 35,000 towards
capital and ¥28,000 towards goodwill in
cash.

©) 9080 SwresSorne &r.35,000, HEDST
85.28,000 $i5e8H 08 EloHoeared.

b) Land to be revalued as ¥20,000.

&) e Densd 85°.20,000me 8%, sexdhd.

¢) Machinery revalued as ¥23,000.

8) aboEred 8r.23,000r 8, Eepth.

d) Stock to be depreciated by 10%.

&) SBHHD 10% &S&HiHese 6§Z,oa°<‘§:.

€) Provide for bad debts 71,300.

&) oo erfe §8%0 8r.1,300m Do*yE B,

Pass necessary ledger accounts and prepare

balance sheet of new firm.

SIEHS grarod Saed BD =SS e,

@0 HEJ TrHos.

SECTION —-E

Answer Any One of the following questions.
8oiS ads BHG® 2B 2. T8 BErrrso
o°oHo&.
1x10=10 M
On 1-1-2015, Kamaa of Hyderabad
consigned goods valued at ¥ 30,000 to Ravi
of Madras. Kamala paid cartage and other
expenses ¥ 2,000. On 1-4-2015, Ravi sent
the account sales with the following infor-
mation:
1-1-201558 3resorer&S® 8o @
B3 DBoeS 3D &.30,000 Denss Gé&@;@ S
5% 5 ESVRD0¢T H0H0d. Ehe DS @
&Q@ 8ods &.2,000 B0k, 1- 4 - 20158
8 8ob S8 oS 'foé{a Hoar.
a) 50% of the goods sold for ¥22,000.
) 50% Ko 38 e, 22,0000% @S,
b) Ravi incurred expenses amounting to
21,200.
) 89 BYoDS apthyen &e. 1,200.
¢) Ravi is entitled to receive commission
@5% on sales. Bank draft was enclosed
for the balance. Prepare the necessary

19.

ledger accounts in the books of Kamala.
D) 828 elysop 5% OO RS
0B, WADS BozE @ Hoard.
Koo DS’ 08308 e JEnt ORY
SrHod.
From the following receipts and payments
account, prepare income and expenditure
account of a‘ Sports Club’, Nizamabad.
80es ai’bg?é SErH-BYoYe wrEe wrdone
Rersrers G Sodo  wmrah-Sgatre
grErs) Saieh BaHod.

20.

Dr. Receiptsand PaymentsAccount Cr.
Receipts Amount|Payments | Amount
BV S0go &r. | IQoder | Indo &,
To Subscriptions |  15,000|By Land 10,000
To Sozeen By a0
To Donations 50,000/By Buildingg 40,000
To Qoegeen By giSapeen
To Legacies 10,000|By Furniture| 10,000
To adargen By K;é&zﬁs
To Entrance Fee | 5,000|By Sports
To e sdoo material | 5,000

By eso
S
To Life membe- By Sports
rship fee 3,000|expenditure 6,000
To £ By =
Sagg &idoo Bl
To sports By Generd
income 17,000  expenses| 1,000
To @éo}_) By e
[Xlastovte) a)ci:‘)e:o
To Sundries 5,000|By Magazines 1,500
To drew By sSmgriEsy
To Sdeof old By Ground
News papers 500| expenses and
To ar8 o maintenance| 4,000
@ wsyso By [o&
506‘56%9,
aaéogoa
By Balance
c/d 28,000
By 89y ey
1,05,500 1,05,500

Additional Information: (¢85 S&reeso)

i. Capitalize 50% of the donations, legacies,
entrance fee and life membership fee.
Doegeen, TPEHTE, B30, L8 Sasg
&9 HBoS08° SiferreR) Lo dEsomed.

ii. Subscriptions still outstanding amount to ¥
5,000
(B8 005 T°RE 505 TrardYS Sorren .
5,000

iii. Depreciate sports material by 10%

o SHYep 10% SHHESets  Jooen
Banod.

SECTION —F

Answer Any Two of the following questions.
808 3 @’a’a’&éj Bol0¢&38 Jlmraren Teohod.
2x5=10 M
21. Explain the difference between receipts
and payments account and Income and
Expenditure account.
Shren DYoo  Frerd, swedd S,Sagoi?e)
geard Sy Bl Trabod.

22.

23.

24.

25.
26.
27.
28.
29.

30.

31
32.

Write any five characteristics of compute-
rised accounting.
50@5&308_% e80s30n8
OFeTee T°OH0&.

Siva Traders bought a machine for %
75,000 on 1% April, 2007. Depreciation
was provided at 10% under diminishing
balance method. On 31 March 2010, the
machine became obsolete and sold for ¥
30,000. Prepare machine A/c.

3% 868y 2007, @S 1S &8 aboEeR) &
75,0000% &5 B206. EH&Y) dogo
58 10% T8 ShivEes Dome
. 2010, &8y 318 adoo
AHBSrrRoE  8.30,0000% @3)&%‘*’&3.
aHo(go grEedy S DOHo’.

From the following information prepare a
statement of affairs and find out profit or
loss of Mr.Pavan who keeps his books
under single entry system. Pavan started
his business on 1 April 2014 with a capital
of ¥50,000. His assets and liabilities on 31%
March 2015 were as under.

58S &S 3"5@"’0"3& 2014, @S 18
&.50,00008° | Frdodomrth. B3 aree
DY 208 BB oSS DEERID.
0S8 éegéa’yéca@ Q3HESD Safreeh B2, aSzZ)Q;S
oregso Soe 263;&)& 88 0508é. 2015, é]“b‘] 313
SE @), @@Qm 808 Qesore &) 00.

Cash in Hand: 6,000, Bills receivable:
%5,000, stock in trade: ¥18,000, Sundry
Debtors: 16,000, Furniture: 30,000, Bills
payable: 7,000, Sundry Creditors:
¥15,000.

288 Sifeh  &.6,000, Sdren  Depen
8.5,000, $gEH LS 618,000, hes
(foen &».16,000, {38&65 &5.30,000, $been
Aepen &r.7,000, Heareden &.15,000.

Y0200 D&

SECTION-G —

Answer Any Five of the following questions.
808 &S DI B BHeH SSrgrares
orafod. 5x2=10 M
Scrap Value (953859 ens)

Entrance fee (3% %&0)

Delcredary Commission (SE&6 s&0%S)
Sacrificing Ratio (@SK D)

Two features of Single Entry System.
28.0¢35¢8 Derdo Both eFerrols BOAH
BaHos.

Two limitations of computerised Accoun-
ting.

50@-05@@% 8°0¢30A B0 HBSeD
oeoHod.

Scalability (s5%)

P and Q are partners sharing profit and loss
equally. They have decided to admit R for
Ygth share of profit in the business.
Calculate the new profit sharing ratio of P,
QandR.

P, Q grifen. orafapods S8r8 )86
DohotnTh. S8 RS Y5 So
TP SN 7':3&)Q§'sas°e>?0 Qgomome
&. P, Q, R 8»&3 arero DG EDA*0&.



